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| PART A: DIFFERENTIATING BETWEEN A BAR GRAPH/CIRCLE GRAPH AND A

HISTOGRAM
Recall:
Example: Note the following charts and which types of graphs we choose to represent
them.
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Example: Note the following charts and which types of graphs we choose to represent

them.
CANDIDATE MOST LIKELYIWS‘OR!‘!UPTION
POSSIBLE ANSWER FREQUENCY ELATWE.;)REQUENCY
Ariane Gagnon 36
John Smith || 22
Arthur Tremblay | 29
None of the above l 21
Did not know or had no opinio: 40
Refused to answer 12
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PART B: QUANTIFYING A DISTRIBUTION, ORGANIZING A DISTRIBUTION WITH A
Y o d
FREQUENCY CHART, REPRESENTI;I% A DISTRIBUTION WITH A GRAPH

Examplei,%louﬁe the following typical exam complex task:

ot e * (*Fo gbtain the final product of a graph, you must create from scratch:
PO Bty anon == q "0 p graph, y
o -amomh_e o
Two months before the municipal election, the local SURVEY 1. Compilation chart . N
newspaper where you work decides to do its own A ’”,,,,, —-»"””," | G | U R R =36) -
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A = none of the above N = did not know or had no opinion R = refused to answer T »
'OTAL 160 ~100
You must
o 11l. Graph
e Construct a graph to represent the above distribution
. CANDIDATE MOST LIKELY TO FIGHT CORRUPTION
% e Make relevant conclusions that can be drawn from the survey ACCORDING TO A SURVEY (SAMPLE SIZE: 160)
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Question 1: Students are polled about which method of transportation they take to

arrive to school each day.

The 6 different options were established:

i Bus (B)

il. Car (C)

iii. Walking (W)
iv. Other (0)

55 students were surveyed and you obtained the following results:

B B C C w

C C C B C

C O B B w

You must:

e construct a graph to show the distribution of the different transportation

categories for the 55 students
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e make a conclusion that can be drawn from survey

B

0

February 10, 2021

sYepe v
‘N\t)(é\ﬂu‘} Lrveqvwrene
o
e b ”
yef 47\/\7\/‘

@{-}—erwa\(dff

pr7d g o

Fﬂ“’ q. @

- F,oﬂcpgcg circle «’jr'mpl,\
2% l?onolé '-
howe wov ¥ feo -
hmplﬁ) q, &M b5
b =6 17



	Page 1: Feb 3-1:15 PM
	Page 2: Feb 3-1:18 PM
	Page 3: Feb 3-1:20 PM
	Page 4: Feb 3-1:49 PM
	Page 5

